\Q/ :
t ;P ,3( < Unbey qu va Mugg M
18 e -
& i i ‘
:Ax\'; bkliam
a-% aty
Moﬂ/\m\a Wmedia aagy P 1S § £odz 4 j %\?J% - T
4 (o]
9 = 12 Mass 7\
A ion 'L‘
par val ‘»w(_ﬁ»\ V¢ SM(
| 35
_ M =
T- X — (@  + (a+x,\\

Berore AeTel
oL
) B
o™ Vo e
y P @
'

SN tb c&,aA\ch}w MOMITTT WA
Mu\(au\ = M\F(O(—\J(\ A liy\ (‘12*‘3%13(—0

Spead 3 Sepatictoa’y _ @&1\!«3_«?

{leshwbin Q= -
Spaed ) apphuch Y




< = (ax)y — '
ma( asg) = ™ ((cch\) ~ eu\(au\ + SiM(qus)ﬂ\ R

(0N - 5 7 2
MUL\MJL\ *M&&(aki\ = (M(a&i\ X 1J‘Jl(o! 4 3 \\

W= mulant) Qe
N CTE A M(als 30)

- \
|
W= Zmul +f2£_022(_\__——-—— as qu‘te&
M (aZ+3x%) +3m(au\1
g wm= ZM U = b u (1+€) (a4

2U32 + b (als 200417

o = bulie)ast)

Tt +92% +V2ux

Qum + Nt +‘-,2(UL\ (Cu(u&\\ - bu((K)(q%i\(l?x +12\

I3

( 3t 2L HZLU(\D‘

du), = o J S MM\M(wi ( Guess S*ahm(y
n Pl-S d Margwq\)

1 . U™ - =9
\2, Fals Wt +}41 _\¥uy -\t 1q 5%}( |
= 9yt ptwax t34° =0

(3o + Ta)(3a +«\

So t: '~de o -\)},’]




a-A 0 Sow P omude R ehugn R oud &

a- L & la = A -
4 Lo-a S oY z =~ %% fennllg

= bu () (a- %)
vax________————
Yo + %(*%\ HM(“’%\

bulire\a =73

i

en—

}al %-dl — Lﬂll

g uli4e)
. Haulliey
u gl

= juie) S 4%&4&:& .
—




